N of reco track vs pT

[N of associated (recoToSim) tracks vs pT

N of associated (recoToSim) duplicate tracks vs pT

4] F 4] F 1% F 1<
X F X F < - =
8 sk 8 48l 3 8
£10°F £10°F = £
F ] ] ]
[« 5 = 8
10* £
=]
o
10°
10°
Qo v 8 2 - 8
s K] s ! H T
o4 + 14 4 T I 14
et e T T T AT 010 eSS e Tty 4 - A -]- -
b M N
A ; ar 1R |11
10t 2 3 ~ 2 3
10 10 traélg p. Ge\} 10 10 traé‘lg p_(Ge
- -
i
f—— i fnQdEiles125_v2_prelimWP_biter
N of reco track vs d ———— — 2 1 6iter
9] %] [%]
g s g
g 2 ]
£ 10 = 8
=
3
o
o™ b v . ° 2
= : : : : = £
g e, o : g
0. i i i i i
=3 -2 -1 0 1 2 3 3
track n track n
N of associated (recoToSim) tracks vs phi | N of associated (recoToSim) duplicate tracks vs phi_|
9] %] [%]
S ] S
8 s g
3 ) 2
= K] 8 :
§ j
3 10
10°F
]
8 . . 8
T : : T 1
= | i «
{) 0.9
832 1 0 1 2 3

3
track ¢@




	Contents
	Page 1


